
Installation Instructions  
Sportscraft Seat Swivel for VW T2/T25/T3 

Part Number: 3342000 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
- Remove the seat from the original seat rails. 
 
- Bore up the holes in the rear of original tracks to 8 mm. 
 
- Place the turntable, the lever to the front, on the original tracks. 
 
- Rotate the turntable by 45°. 
 
- Put in the M6 square nuts into the rail in the front and the thin bar with welded M8 nuts into rear of the 
rail. 
 
- Mount the turntable with the M8 screws at the rear and the M6 screws at the front to the slices. 
  
- Place the Seat back into the tracks of the upper plate. 

Front of Vehicle 


